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Perhaps there was a puncture in the place of the sword

OVERVIEW

7971 " and X2°py " stated in the 71wn that if they would have been in the 177710
(they would question the witnesses in such a way that) the death penalty would
never be enacted. *WX 17 gave an example; they would say, ‘perhaps there was a
puncture in in a certain organ (which makes the victim a 79)', and the sword
(which killed him) pierced him in that very same spot’ (so it is not apparent that he
was a 71970 even before he was killed). m»oin discusses this exemption.

nooIN asks:
- ZNﬂ‘pn Y 72993 (0w 2,8 97) 1’511'\‘1 NP P99 19°99NT N 99%24Y nvp

The n''1 has a difficulty, for the X 13 states in the first P25 of 19717 noo» and they

derive it from a ?op -
- °N2Y9 903 199INT KDY 19UN KT

That we are not concerned for this (that 77 221 720 D1pn2 RHY), for we follow
the majority of people who are not 19™v. So why are we concerned here?

N1B0IN answers:
- DAY INIY D20 KON 19PUN XY HINTT B 19939 99IN)

And the n'' explained that certainly [if we did not ask the 27y (whether he was
a 119°70 or M7 2P1 90 0IPna Xn27)] we are not concerned for the v n, however

v and Y"1 would ask this to the oy -
— T;v1un 5035 4991 K91 19N (IX SNT NN AT IYINDS) OXY (519)

" One is not liable for the death penalty for killing a person who is a 19*70 (terminally diseased).
* The 77N teaches that if one kills another he is in" 2>, and we are not concerned that perhaps the victim was a
71977V or 70 0PN M 2p1, because we follow the majority that most people are not 79°70.
? How can we exempt the killer from execution by asking that perhaps there was a 770 @3p»2 271 (which we cannot
verify in any case), when the rule is we are not concerned for this, as is evident by the fact that a murderer is put to
death, even though there is this (highly unlikely) doubt.
* The "2 Mian amends this to read, XY 112 1172w X2 *X °XT17 (instead of X% *X717).
> This is referring to the asking of perhaps he was a 75™ (where the M7y can verify and contradict each other).
® This is referring to the question of perhaps there was a 70 2p»2 2p1 which is not verifiable, and all the 0*7¥ can
say is that we do not know (see 0"n).
" The answer is that we are not required to ask the 0>7y whether he was a 79" (or maybe 7’0 01p»n2 2p1) because we
assume that he is not a 79>, and the killer is put to death (this explains the 7710 rule). However, should 7"°2 choose
to ask the 07y whether the 0°7¥ can certify that he was not a 19> (etc.) and the 0*7v (either contradicted each other,
or) said they do not know, the killer is released, for their testimony is voided.
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(In order) that if (they would contradict each other, or) they would say, ‘we do
not know’, the n17¥ would be voided -

mooIn offers an example to support this distinction:
- 2950 199959Y K97 ONT P19IN) 9MON MNT SN
This is similar to a 399981 12, where if we do not ask the o7y what type of

weapon was used; it does not matter; the killer is liable in any event -
= 71193 AT PPN 192N N AN 9902 AN NN

However, if the 0>7Y were asked, and this one 7V said he was killed n°302, and the
other 7V said it was J7°7K2, this is not a proper testimony and the M1y is void.

MooIN anticipates a question:
= 1993 1T 29N PYTI NN PN IININ 515 J999N) 2027 2) Uy 9N

Even though that by 399981 1799, etc. if the 0°7v said, ‘we do not know whether it

was a 70 or 77°X’°, nevertheless it is a proper M7y and the killer is executed, so why
here by M1 2p1 720 D1p»a R1LT, does the N"1 maintain that if the 0°7v said ‘we do not know’, the
M7y is P02. What is the difference between the two cases?!

mooIn replies:
- Loy N 19993 299021 DRI 919 M

This case (of 70 02 221) is worse than 77°7X) 7°°02, since the 2°7V do not know
something about the victim, so in order to disqualify the 2>7v [we do not require

that they contradict each other (as by 17°7%) 77°0), but they can be disqualified] by merely
not knowing.

mooIn disagrees with the n":
=N NN DYV NTINMDI AVN NN AT BYL NN
However, this reason is not satisfying, and what type of reasoning is this -
- 29909 157 P19 93X PR 199X IRV BN 2990 KNS DAY NI NY ONT

% 50 and 177X are two different types of weapons. We will refer to them as such.
? Similarly here, we do not need to ask them if he was a 79" (etc.), however if they were asked and they
contradicted each other [or they said, we do not know], the m7v is 2v2. The expression 121 717 PX', and the following
expression '1121 77 77 is used in X,X» 177710 'on based on the 2109 (in 0,3 [[%7] 2°727) which states 1191 Nk 71
7277. The word 7121 means that the m17v coincides, they are both agreeing.
"% In the case of 17" 90 it is basically irrelevant which weapon was used, for in either case the killer is liable
(therefore if the witnesses did not pay that close attention it does not matter), however regarding 715>70 which is
relevant in implementing the death penalty, if the 0°7v do not know. they are not proper 27.
" The n"an M amends this to read, 3771 31 DR 37 PWORON 1V XY 1YY (instead of 7@ PYTY).
2 Seemingly in both cases we have the same lack of knowledge, why should one case be 21 and the other M1v5.
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That if we do not ask the o7y, the killer is liable, but if we ask the 0>7v and they
say we do not know, the killer should be exempt from punishment?!

mooin refutes the proof of the n":
- ONRAY NN PNTIN PR 115N 99901 NOANY 1IN

And regarding the proof that the 0" brought from 39981 7>9; our case is not

similar to the proof, so it is an invalid proof, as madn continues to explain -
- AT AN DT IYINIOY 2501 HITAY PN INY 1399Y XYT AN Y2 onni

For there (by 777X 7°0) as long as we do not ask the o7y what weapon was

used, there is no reason to assume that they will contradict each other, therefore

we need not ask them -
= 9PV DM NYTNA PYININIYI YAN

However when they explicitly contradict each other, it seems that their

testimony is false -
- 029 1991 N P DINNY 1991 2910 1991 NN INYTL MY 999 DIN At 12TV

For in this matter it is usual for a person to be cognizant with what weapon did

he Kkill, more than whether his clothes were black or his clothes were white -
= NN OYV NY2 ON 19°29 V9V 937 YaN

However the matter which the n'' explained is without reason -
- 290 1973 BV IN N1N PN9%I0 ON DIPT PN PRI DAY DIINIY PRYIY

For if when we do not ask the 0>7v, and we do not know whether he killed a

112571 or whether he killed a whole person, the murderer is liable -
- %9309 7575 DY 1IN PN 19N DAY INYIY S5awa)

13 The rule is if the o7y were asked what color clothes did the killer wear, and they contradicted each other, the M7y
is valid and the killer is still liable. However by 77°7%1 70 (even though if they do not know what weapon was used,
the killer is liable, but) if the 0>7¥ contradict each other the M7y is Pv2. This seems to prove that the more relevant
the issue is to the murder, the witnesses are required to pay closer attention. Therefore regarding their clothes, which
is totally irrelevant, the rule is that even if they contradict each other the n17v is valid, however by 177X 70, which
is more relevant (than the clothes they were wearing), if they contradict each other, the N7y is Sva. It would then
follow that by 70 0pna 2p1, which is most relevant, even if they do not know the n17v should be %va. mo0IN rejects
this reasoning.
'* When one 7 says he killed with a 90 and the other says with an 17", it very likely that one is lying; he claims to
know what weapon was used because he paid attention, but he is contradicted by the other 7v. However by clothes
(since it is totally irrelevant to the case) even though he says it was white, and he is contradicted, it does not matter,
since the color of the clothes is completely irrelevant; when he said white, he meant that he thought it was white, so
they do not appear to be false witnesses. [m201n is seemingly negating the assumption (mentioned in footnote # 13]
that the more relevant the issue, the more the M7y should pay attention. Rather the reason the 0>7y are 7109 by 17
7R MR AN 7102 MW, is because since they are contradicting each other in something which is (somewhat)
relevant it is pwH M7, but not knowing is never pw mm7.]
' The n"27 N amends this to read, 277 29w IR 2173 7970 (instead of 3771 YW IR R 790D).
'® See footnote # 12.
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And because that we asked them and they said we do not know, the killer

should be exempt from punishment?! The question remains how will they always exempt the
killer from punishment by asking if he was a 79>, etc. if the 0>7v will (usually) answer that they
do not know.

mooin offers an alternate explanation:
= 2913 75N XY 09¥9 299 NIN NPT IND ODI¥N DTN 1913 D 9IRPT NNT N9 )9Y

Therefore it seems to Mo01n that this which ¥"™1 v"9 said, ‘no one would ever
be killed’, was not exact, but rather they meant to say, most times the murderer

would not be killed -
- 3y99a1 Yonn 40N WINDY X9Y TWAN X MPITA D390 NINY 3P Yyw

That on account of the increased questioning of the 07y, it is impossible that
one 7V should not contradict the other.

mooIn anticipates (and rejects) an alternate explanation:
— (2,0 M) 010 25N 33 RDIWNY YHNT N3HAYOY KISPY 5397 9121 PN YaN

However, we cannot say that ¥''3 here follows his reasoning elsewhere that he

is concerned for a minority, regarding the rule that a milking cow is exempt
from 717102, therefore here too he is concerned for a v1¥°» that perhaps the victim was a 71970, and
that is why we ask the 07y whether he was a 7970, etc. —

mooIN rejects this explanation:
- 9581 2291 Y90 NVIWNY YHNT NIN DIV 180 NY NNT

For we do not find any Xin who is concerned X©w°»> more than »'' -
- (3,30 91 PIINT RNDDP 9993 ZRVIPINY 1WN YT TWON NYT NN N1 297 199N)

And nevertheless »''1 agrees in the first 75 of 1917 noon that wherever it is not

possible to verify the status that we are not XwIp > 2o
- Payan 89719910 NN

17 The n"a7 N3 amends this to read, 11730 NR onn (instead of 17°2n oan).
18 7"53 will ask so many question (which are [somewhat] relevant like 777X 7”°0 or 10 0pPn1a 3p1) that eventually the
o7y will contradict each other and the alleged killer will be freed.
' The rule is if someone buys a cow from a gentile and he does not know whether the next calf born is a 1132 or not;
if the animal is producing milk, we assume she already had a calf, since a majority of cows do not give milk unless
they bore a calf. However, ¥"1 disagrees and is concerned for a minority of cows that give milk even if they did not
give birth yet (and therefore the calf that is born is a 7132 poD).
2 The x3 continuously states, 'R0 M7 w1n7 177 127087 (see 2,2 113 ;3,80 NN, etc.).
! The "2 M amends this to read, X2°717 77 (instead of X277 770).
2 The n"a7 M amends this to read, NP 275 RNOKXT2 KUY (instead of P92 RLIVNY).
2 How can we verify if there was a 770 01pn2 3p17?!
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And here by 70 0P 2p1 it is a case of impossible to verify.

mooin offers a possibility to accept the rejected interpretation:
— NNYMT NYY 0PI RIINT 99 VI 1IN

However one can say that we can verify this matter whether there was a Dpna 2p2
L'P’O -

$93979 Y273 A% X2 DY MY INT 1510 P Y 8199 NYAY 19
For instance if the membrane of the brain was revealed (open) and the o7V
saw that it was whole (no punctures) and the killer came and perforated it and

killed the victim. Therefore since ¥"9 is X0Wwn? w»n we have to ask the 077 to verify whether
there was a 70 01712 2p1 (in this type of a case), otherwise the killer is freed.

SUMMARY

According to the n"9, if 7"°2 would ask the 07y, whether there was a 7”0 01712 P2
and they answer, we do not know, the killer will be freed (even though the killer
will be convicted if we do not ask him [for we go 217 7n2]). However mpoin
disagrees and maintains that not knowing is no cause to release the killer, but
rather the X773 meant that they would ask so many questions that eventually the
0>7v would contradict each other (and the killer will be freed).

THINKING IT OVER

Why was it necessary for the n"1 to say that if the 2°7¥ answered we do not know,
whether 3771 2w or 2171 179°70 the M7V is Y03, why could he not say that it is P02 if
they are w°r2n one another (as Md0IN maintains)?*

** Part of the skull was missing and one could see the brain’s outer membrane.
* See 710 .
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